1.

R#ETFAN XFRX AEX VWBW3E 04

ROFHERZ < > HOLFITOWTHRT. (SHE13108, A1 508, Bfk 23408, C#44)

(1) —3x + 2a = 2x — 8a <x>

(3)  a(z—2)=b(z+3) <z>
EELa—b40 L35

(5) ab+bc+ca=1 <a>
7L b+c#0 T 5.

_2_ .1
(2) y=3r+ <z>
(4)  ar+a=abx <zx>

EELa£00 b4l T3,

(6) l—f—l:i <x>
Y z T

7L y+2#4£0 75,
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2. ROFEAZE < > HNOXTFATOWTHT. (SHk1420%, Afk24r, B34, C#k44330%)

(1) —5z+7a=2(z — 3a) <z> (2) y:%x—% <z>

3)  a(z—b)=bla—=z) <z> (4)  ar—a®=abz <z>
7272l a+b#0 5. 72l a#0DDb#£1 T 5.

(5)  ab+bc+ ca = abc <a> (6) %Jr%:% <z >
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1.

RETFAN XFA AEX WBW3 04 BREMES

ROFHERZ < > HOLFITOWTHRT. (SH1310F, A 157408, Bk 23408, C#44y)

* XFRDFGER

© WAz FREDRARAFIETHNS % 5 5.

@ FELIREE T T OEZ B, 4141 2 NS o TH 2 BIH.
®  WMpAZIADRETHE S .

(1) —3x 4 2a =22 — 8a <z> (2) y:%x—f—% <z>
—5r = —10a 12y = 8x+3 < x 12
x = 2a EZ 8r+3 = 12y < AN 2
8¢ = 12y—3 —H%IH
T = 12y8_3 ~EBZ <miid =8
3 3 s
— Y EZ
v 2¥ 78
(3)  alx—2)=b(z+3) <x> (4)  azx+a=abx <x>
7L a—-b#0L,7 5. 2L a#0DDb#£1 T 5.
axr—2a = bxr+3b 2B z+1 = bx <Ml +a
ar—br = 2a+3b —HIH z—br = -1 S22
(a—bx = 2a+3b <z T3 1-bz = -1 <z T3
z o= 20F3b gz WL (a—0) z = ——1 CER Bl (1-b)
a—b>b 1-0
2 = ;oo B <HNST (-1
(5) ab+bc+ca=1 <a> (6) %4—%:% <>
ab+ac = 1-bc B 2rH+aTy = yz <A x xyz
(b+cja = 1-—bc <aTLK5% (z4+y)z = yz —rTD
a 1—bc R Tl s (bt o) _ Yz R s (y 4 2)
b+c r = Y+ = = = (y+z
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2.

ROTEAZ <
(1)

—bzx + Ta

(3)

a(x —b) =bla — x)

> HNOLFUTOWTHRT. (S# 15208, Afk24r, B34, C#k4530%)

=5z + Ta = 2(x — 3a)

2ELa+b£0 £ 5.

ar — ab

ar + bx

(a+b)x

(5)

ab + bec + ca = abe

722U b+c—bc#0 &T 5.

ab + ac — abe

(b+c—bc)a

1

_3,_1
<z> (2) y=4" 6 <zT>
2z — 6a 12y = 922 —ljid x 12
—13a 9r -2 = 12y < A Z
13 - _
- ~EZ 9r = 12y+2 —BIH
z o= EZ EmR L
4 2 s
= = _— =
v YT
<z> (4)  ax —a®=abx <xz>
7272 a0 b#4£1 T 5.
ab — bx <~z r—a = bx <~ +a
2ab —T4IH r—br = a —T4IH
2ab —z T3 1-bz = a —z T3
2ab CER i (ot b) z = - SEX i+ (1-b)
a+b 1-b
<a> 6 L4+i-1 <z>
x Yy oz
RELy—2#£0¢75%
= —be BH yz+zx = xy <l x xyz
= —bc —aqgTLK 53 r—ay = —yz < B
—bc =
- b+c—bc Naic (z—yr = -—yz <z TLK3B
<34 = (b+ ¢ — be)
x = % ~EZ <Ml (z-y)
be s 5 -
= T3 CHA
bc—b—c 5
<HTRET X (—1) v o= o EX O CHEHT (D)
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